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BI2HE 0..10..100 ... 200 ... 500 ... 1000bar
& A RE. BE BHEE
BRI 1.5 mADC; 10VDC
LIk mA: 2kQ ... 5k0; VDC:3kQ ... 18 kQ
BS R 515, HRS%
HiZHE i e R A0S 0%( H1 AU {E)
MZBE mA: -10... +70°C
VDC:-20 ... +85 °C
I R -40 ... +120°C
fEFiRE -40 ... +125°C
i e e 2200MQ@ 250VDC
M) Rz B+ 8] <1 ms (10% ... 90%F.S)
ME R S5TFMILHRENS, ik
it 100g, 11 ms
EN 60068-2-27
RN <20g

EN 60068-2-6 at 20 ... 5000Hz

FAHFw 210x10° (cycles)
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BESH =/ME AN RAE B it

E[ 353k 0.3 0.2 0.3 %F.S

RittE -0.05 $0.03 0.05 %F.S

BEEM -0.05 +0.03 0.05 %F.S

Fofid 2.0 +1.0 20 mv

g 60 90 150 - 1.5mAR il
80 100 120 10VDCHI

oy 1.5 $0.75 15 %F.S

RYETH -1.5 +0.75 15 %F.S

PR -0.075 +0.05 0.075 %F.S

KHIRREM 0.3 0.2 0.3 %F.SEF
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